SVENDBORG BRAKES. DENMARK

CVR / VAT: 13256438
[ WWW .SVENDBORG-BRAKES.COM

THIS DRAW ING/DOCUMENT REMAINS THE PROPERTY OF SVENDBORG BRAKES AND MUST NOT BE COPIED W ITHOUT
OUR PRIOR WRITTEN PERMISSION, AND THE CONTENTS THEREOF MUST NOT BE DISCLOSED TO ANY THIRD PARTY,
NOR BE USED FOR ANY UNAUTHORIZED PIURPOSE. LEGAL ACTION W ILL BE TAKEN IN THE E\{ENT OF CONTRAVENTION.

PLUG VSTI M8x1.0 ORl
' 1

|
| o DRAIN PORT (2x)
. AIR FILTER M5x0.8
DRAIN PORT == C 2
AIR FILTER M5x0.8 S=
9 PRESSURE PORT
a3 GI/8 BLEEDING SCREW
o= : My = 841.2 L
ﬁ IS @  © ORI
s N=8 BOLT M6x25 _
LT Il = My = 9£1.2 [ [T l
‘. == DRY | 0 |
| 25 ©
<= i 1
I o= O L [ 1 1 )
T ><Q
= | = 1 ©w
= | - i -
, — = o
] |

BOLT M12x90 8.8—/QJ
My = 64 46 Nm |
DRY

(NOT INCLUDED IN BRAKE)

] 3
BRAKE CAN MOVE ON SHAFTS:
- WITHOUT POSITIONING SYSTEM MOUNTED: oMM UPWARDS AND 3MM
© DOWNWARDS FROM NOMINAL MOUNTING DIMENSION (45)
WITH STANDARD POSITIONING SYSTEM MOUNTED: 2MM UPWARDS AND
E? b AR GAP DOWNWARDS FROM NOMINAL MOUNTING DIMENSION (45)
C = BRAKE DISC THICKNESS = 12 MM I—
MOUNTING DATA, SEE DRAWING: 490-4016
WEIGHT: APPROX. 6 KG INCL. BRAKE PADS
MOUNTING BOLTS NOT INCLUDED
E%EEME%AE?TIM%E?QLAQSD [ ALL DIMENSIONS IN mm|DRAWING STATUS
CHAMFERS ACCORDING TO: DESCRIPTION 536
1SO 2768 - mK e
BLEEDING PORT (2x) DRAWN BY SFR a BSFI 100-MS125-100 oo L
DATE 23.07.2008 @ REVISION D
Svandborg° DRAWING NO. SCALE  3:5 (A3)
A Brakes 490-3866 SHEET | OF | SHEETS
SVENDBORG BRAKES RESERVES THE RIGHT TO REVISE
THIS DOCUMENT W ITHOUT PRIOR NOTIFICATION OR OBLIGATON [ ‘ D ‘ E F RELEASED
by sasja.frisk



